1- Which of the following is a strong thesis statement?
a. To be a successful student, good study habits are more important than intelligence.
2- Which of the following thesis statement has a logical division of ideas?
a. Inflation has three causes.
3- One of the following CAN NOT be used to make logical division of ideas….
a. Sudden-Jumps-Sentences.
4- Parallelism means that 
a. Two or more items follow same grammatical patterns.
5- Which of the following is parallelized?
a. My son enjoys playing, shopping and swimming.
6- Which of the following is parallelized?
a. This semester lm studying art music, and math.
7- Which of the following suggest logical division as a method of organization?
a. In most occupations, women are still unequal to men in three areas; salary .power, and status.
8- An English essay must be having coherence. Coherence means(9)
a. First sentences must hold together smoothy and logically
9- We use the transition signal”furthermore” to introduce……
a. An additional idea.
10- We use the transition signal “to sum up” to introduce….
a. A summary.
11- We use the transition signal “such as “ to introduce….
a. An example.
12- We use the transition signal “consequently” to introduce 
a. Result 
13- We us the transition signal “otherwise “ to in introduce….
a. A choice or alternative. 
14- In English essya’s introduction, general statements should ususally.
a. Capture the reader’s interests.
15- In English essay’s introduction, thesis stat, thesis statements.
a. State the specific topic .
16- Which of the following is NOT too general theses?
a. Internet has four applications in both education and economy.
17- Which of the following transition signals can be used to introduce?
a. In conclusion, in summary , in brief, in short .
18- The topic sentences……
a. Should agree with the main idea.


19- In 1976 an earthquake in China killed over 250.000 people .has suffered some Than 80.000 deaths. In an average year , earthquakes kill 10.000 people has suffered  some Scientists keep >Betraying to find ways to predict earthquakes. Currently under study use & main methods  of predicting when and where the next BIG ONE will occur ’what is the.
Type of this introduction?
a. Surprising Statistics or facts introduction. 

20- “Beginning in world war ll and continuing through the period of economies the status of woman in Xanadu has changed remarkably. What is the pattern of organization of this paragraph?
a. Chronological Order ..
21- Which of the following is parallelized ?
a. We wanted to cook and to go swimming
22- Which of the following is a strong thesis statement?
a. A void sports injuries by taking three simple precautions.
23- Which of the following is NOT one of the benefits of an Outline?
a. An Outline wastes time for writers .
24- Supporting details and  examples should be listed in
a. The main body>

25- “Although the status of woman in Xanadu has improved remarkably in recent years, it is still very low when compared to the status of women in the countries of the industrial world”          What is the pattern of organization of this paragraph?
a. Comparison and contrast .

26- “The status of women in Xanadu has changed remarkably in recent years due to two reasons; increased educational opportunities and changes in the country’s laws.”                                                                                 
How many paragraphs will the body of this essay probably contain?
a. Two paragraph

27- An English essay must be having unity . Unity means 
a. To discuss only one main idea from beginning to end 
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28- The topic of this essay is, quoted from a long essay , going to primarily discuss….
a. Effects and causes of shyness
29- Which paragraph(s) discuss (es) the cause (s)?
a. Second paragraph 
30- Which paragraph(s) discuss (es) the effects?
a. Third paragraph
31- What two subtopics are named in thesis statement?
a. Biological factors only 
b. Environment factors only
c. Biological and environment factors
d. None of the above is true
32- Which paragraph(s) discuss (es) the first subtopic?
First –second – third - fourth
33- Which paragraph(s) discuss (es) the second subtopic?
34- First –second – third - fourth
35- Which of the following is a strong thesis statement  ?
a. Avoid sports injuries by taking there simple precautions
36- Which of the following is NOT one of the benefits of an Outline?
a. An outline saves time for writers 
b. An outline helps body paragraphs stay focused in the ideas in your thesis status .
c. غير متاكدة
37- Supporting details and examples should be listed in 
a. The main body .
38- Which of the following thesis statements suggest that  the essay will describe a process or procedure ?
a. A  child learns to handle responsibility in a series of small steps 
b. There are two main reasons I believe that women in the army should not be allowed in a war zone along with men.

c. 38-	Which of the following thesis statement suggest that the essay will describe a chronological order?
d. the procedure for submitting express repost has recently changed
e. the preparation put .................. delicate process that is not amateur chefs
f. the life cycle of them..................interesting phenomena
g. a boy  learn  to handle to different thing in series of small steps
38- أي من بيان أطروحة التالية تشير إلى أن المقال سوف تصف الترتيب الزمني؟
إجراءات تقديم ربوست صريح تغيرت مؤخرا
إعداد وضع .................. عملية دقيقة ليست الطهاة الهواة
دورة حياة لهم .................. ظواهر مثيرة للاهتمام
صبي يتعلم التعامل مع لشيء مختلف في سلسلة من الخطوات الصغيرة
39- The purpose of any Transitional Paragraph is to …..
a. Restate the thesis stste ment 
b. Conclude the essay
c. Start the essay
d. To conclude one secton and introduce another section
40- In organizing a compare and contrast essay , a writer may apply …
a. The block method & the point-by- point method 
41- Well developed paragraphs……
a. State the main point+rain the main idia +lead the reader to the next point
مش متاكدة ؟؟
42- Commas can be used to separate……
a. Item in aseries
43- What does a Clause mean?
a. Group of words that contains at least one subject and verb
44- Which of the following is a clause?
a. To protect the enviroment
45- What does an independent Clause mean ?
a. Clause contain asubject and verb and express acomplete thought
46- Simple sentence has >
a. One independent clause
47- “He works in the city, but she lives in the suburbs” .This sentences >
a. Compound sentence
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If you 5fféF from shyness, you are not alone, for shyness is a universal phenomenon. According
to recent research, “close to 50 percent of the general population report that they currently
experience some degree of shyness in their lives. In addition, close to 80 percent of people report
having felt shy at some point in their lives” (Payne, par. 3). As shyness is so prevalent in the world,
it is not surprising that social scientists are learning more about its causes. They have found that
shyness in an individual can result from both biological and environmental factors.
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Recent research reveals that some individuals are genetically predisposed to shyness. In other
words, some people are born shy. Researchers say that between 15 and 20 percent of newborn
babies show signs of shyness: they are quieter and more vigilant. Researchers have identified

physiological differences between sociable and shy babies that show up as early as two months. In
one study, two-month-olds who were later identified as shy children reacted with signs of stress to
stimuli such as moving mobiles and tape recordings of human voices: increased heart rates, jerky
movements of arms and legs, and excessive crying. Further evidence of the genetic basis of
shyness is the fact that parents and grandparents of shy children more often say that they were
shy as children than parents and grandparents of non-shy children (Henderson and Zimbardo 6).
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much of his or her shyness. On the other hand, many people who were not shy as children become
shy as adults, a fact that points to environment or experiential causes.
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The first environmental cause of shyness may be a child’s home and family life. Children who
grew up with a difficult relationship with parents or a dominating older sibling are more likely to be
inhibited in social interactions. Another factor is the fact that today’s children are growing up in
smaller and smaller families, with fewer and fewer relatives living nearby. Growing up in single-
parent homes or in homes in which both parents work full time, children may not have the
socializing experience of frequent visits by neighbours and friends. Because of their lack of social
skills, they may begin to feel socially inhibited, or shy, when they start school (7).
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However, environment can, at least in some cases, triumph over biology. A shychild may lose Adobe PDF Pack @
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While being shy has some negative consequences, it has positive aspects, too. For one thing, it Select File

has been mentioned that shy people are good listeners (“Shyness”). Furthermore, a uni

professor writing about his own shyness says, “Because of their tendency toward self-criticism, shy

people are often high achievers, and not just in solitary activities like research and writing. Perhaps » Edit PDF
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To sum up, shyness has both genetic and environmental causes. Some people come into the
world shy, while others become shy as a result of their experiences in life. It appears that most
people have experienced shyness at some time in their lives, and recent research indicates that the
number of shy people is increasing. Therefore, if you are shy, you have lots of company.
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